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GCSE Mathematics (Linear) 1380
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit,

e—a-——
Area of trapezium = 1(a+ bk h
i

2 b——

_ /,Cross
Volume of prism = area of cross section x length
b/ /"]
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Leavew
blank
Answer ALL TWENTY EIGHT questions.
Write your answers in the spaces provided.
You must vgrite down all the stages in your working.

1. (a) - ‘
|mll|m|1|||lmf|mlilmlimliml
|il!l[|illIIIH|Ill1|llllilllt|lIIIIIIHI
5 6 7 T 8 9

Write down the number marked by the arrow. ,} .. _]
.......................... ( 1)
(b)
ll!l!lllltllll!l
lllliillillillll
20 30 ‘[ 40 50
A Write down the number marked by the arrow. 3 Q
(c)
I R Ty
-9 T -8 =7 —6 -5
Find the number —8.3 on the number line.
Mark it with an airow (T )
' n Q1
(Total 3 marks) ‘ 7
0 A0 0 20 tun over




2. Here is a list of numbers.

2 5 3 10 13 14 16 18

(a) From the list, write down

(1) an odd number,

------------------------

(ii) the multiple of 6,

........................

(1ii) the square number,

------------------------

(3)
Erin says that 8 is a prime number.
(b) Erin is wrong.
Explain why. |
A prime._nombec only hal. fwo. fodors.
B.bas four factoCm a2 o8
@

(Total 4 marks)

Leave:1
blank

3. Diagram NOT
accurately drawn

(i) Work out the value of x.

(1) Give a reason for your answer.
,ﬁ,,]@q .y £

JdheomateS.on. g Stfaoirt Lo = 180

................... .\.} R e P T T 1 A,

.......................................................................................................................................

....................................................

Q3




- 3
Leave

blank
4, The tally chart shows information about the numbers of text messages sent
by some students last week.
Name of student Tally Frequency
Anna BT gL B L 24
Bhavini W Bl 12
Cassie H HE I 5
David W il : q _
(i) Complete the frequency column,
The pictogram shows the numbers of text messages sent by Anna and Cassie.
Anna
Bhavini -+ | [ ] [_| D |
Cassie l—l——'
David ‘ ‘ [:I U
w [ =1}
(ii) Complete the pictogram and the key. Q4
(Total 5 marks) ’_]
\ L
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(a) Measure the length of the line PQ.
Give the units with your answer.

............................

(b) On the diagram, mark with a cross (X) the midpoint of the line PQ.
)

(Total 3 marks)

Lca\;
blank

« Daley is at a sports camp.

He can play one of three sports in the morning and one of three sports in the afternoon.

Morning Afternoon

Tennis (T) Rugby (R)

Football (F) Cricket (C)
Basketball (B) Golf (G)

List all the possible combinations he can play.
The first combination has been done for you.

%

SERYMOMTE LR, {06 BR)

............................................................................................................................................

iy |‘= {4;} ‘:;'i
é:ﬁ;; £ é‘} é(‘? i j

T

Q6

. (a) Write 15% as a decimal.

..............................

€Y
(b) Write 7% as a fraction. 7
gole;
(Total 2 marks) 7




Lf:avew
blank
8.
Jessie's Café
Pizza £7,38 Coffee 80p
Burger £1.70 Tea 65p
Sandwich £1.30 Juice . 75p
Lisa buys a pizza and a coffee.
(a) Work out the total cost.
—f ‘ A
Pizea £2735
I €0 A
(offee £0 £ ~
13!
oS
@)
Deborah buys 2 burgers and 2 teas.
(b) Work out the total cost.
el ) .
) ¢ 11710 =1 340
- wing ‘} ;
7. {;5 ¢ g {{}
gl 19 .
2)
Michelle has £10 | |
She wants to buy as many sandwiches as possible.
(c) Work out how many sandwiches she can buy.
_f1g0 17190
9. 17260
g -1£340
- 7§20 | L
[f 50 | /
\;) fﬁ B e ( :.Z:) Q8
i .1, '
b f.1-60 | B
(Total 5 marks) |
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9. Here are some triangles on a grid.

A L
] ]
/
/
"1 ¢
NP /
N v
™
N
¥
i 7
S G H/

One of these triangles is an isosceles triangle.

(a) Write down the letter of this triangle.

(b) Write down the special name for triangle F.

Lot o el
e

.............................

Two of the friangles are congruent.

(c) Write down the letters of these two triangles,

--------------------

Triangle B is an enlargement of triangle A.

(d) Write down the scale factor of the enlargement.

(1

Vo

and ...... 8 .........
(1)

....................

Lea?
blank

(Total 4 marks)




10.

Seven points are marked on the coordinate grid.
One of these points has coordinates (4, —3).

(a) Which point?

() (i) Write down the coordinates of the point D.

(i) Write down the coordinates of the point E.

(¢) On the grid, plot the point (-3, 2).
Label this point H. :

....................

(1)

i
Leave
blank

Turn over




11.

(a) Simplify 7x+4x

....................

(b) Simplify yxyxyxy

(c) Simplify 6e + 5+ e — 3f

bere =70

SEse it e R VTV b rarra st nasenastabina
Vv

(Total 4 marks)

Leave
blank

12.

The table shows some information about drivers in the UK. over 75 years of age.
Percentage of
Age drivers over 75
76 to 80 57 %
81 to 85 30%
—
86 to 90 1O-/ /é)
91 to 95 1.9 %
96 or more 0.4 %

(a) Complete the table, 5 0 4 | Q400 = 89.%

s 2)
160 -89-% = 10/
There are 1616 000 drivers in the UK. over 75 years of age.
30% of these drivers are 81 to 85 years of age.
(b) How many of these drivers are 81 to 85 years of age?
\ 66 000 10 161 400
V0% = 16 [ 00
o = % 16l 600 = 484,500 -y
St f”/OO .......... Q12
2) —]
(Total 4 marks) .




13. Here is a sequence of patterns made from square.s. a
Pattern Number 1 Pattern Number 2 Pattern Number 3
(a) Draw Pattern Number 4
i,
i 1.
ey
(b) Complete the table.
Pattern Nmﬁber 1 v 3 4 | 5
Number of squares 4 6 8 10 |1 7.
4y
(¢) Find an expression, in terms (of R, fgr_ the number of squares in Pattern Number ».
ST S A
wen =1
?.ﬂ - 2)( ! — 2- ..................................... : -13
negckto ackd Q Qflp' ? @ %
, . (Total 4 marks)
RO A A RS A tan woer -




14, Here are the shoe sizes of 9 people,
33 2 7 8 11 4 8§ 8

() Find the mode.
Wwhicdh one ap pf—‘a_fj g MOSt

(b) Find the median.
order numbers §,% X (] Oj/g{)/ﬁf%

oSS ono f fom

Cocn o f} Ok 3@\5 RO PO i no(p_
(c) Work out the range.

((Mﬁ(’&i = Smakke St
o= 2 9

(d) Work out the mean.
b

Add ol values, taon duMioe | )
(.
NoOws ’Vl(u\ % \j()l}( _

SLLQé)

....................

....................

....................

--------------------

(Total 7 marks)

Leave
blank

Ql;l

i

15. Use your calculator to work out

V38.44+7.3
SRS =R I

...........

............................

Q15




16. (a) Solve c¢+6=10 0 '
i
e = Y
A
@
(b) Solve §= 6
) 7($
o - bx? |
e ¥ V¥
(1)
(¢} Solve 2x-3 = 10
L3S
Do = 1045
20C= ! %
sy =L5.
v b S @ Qs
| (Total 4 marks) T
17. Mabintou buys 8 CDs.
Each CD costs x pounds.
The total cost is 7 pounds.
Find a formula for 7'in terms of x.
NP -
N S
Total (oSt =amo il of 0 x CD oSt
........ T G S 1
(Total 2 marks) ——]
13
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18.
Small coach ; 25 seats
Medium coach 38 seats
Large coach .- 84 seats

Double decker coach 107 seats

Ali wants to hire some coaches.
He needs enough seats on the coaches for at least 350 people.

A coach company has 5 small coaches,
3 medium coaches,
and 1 double decker coach

that Ali can hire.

Have these coaches enough seats for at least 350 people?
You must show all your working.

Smalk = Nv D5 = 128

Moguum = é K f)% il L L

e [y 107 - 167
Decler -

-~

176 00+ o[ G

=l N

HOL (D‘A\ N f\ (\{ ;u\ \
N

" (Total 3 marks)

5
Leave
blank
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1) &ﬁ
19. On the grid, draw the graph of y =4x -2 ... D‘/ QU L-OU OLO

ala | ]ofi [N, VAWe.
‘Y2610 Sopstitute vowe of

0

J

] 5 MO equalior
12
10 X
8 VARG
6 7‘{// ~ ==
4t A g S C)
/ \,x _i::z,.._[ O
2 > ¢ k |
4 /. ‘;
-2 —1 Is) ¥ ; 3 :
e
i
# £ ~4
P
/""}'{ ‘"""6
3 ffj’ 8
e :
* 10

(Total 3 marks)

Leave )
blank

Q19
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20. (a) Shade two more friangles to make a pattern with 1 line of symmetry.

@

(1)

(c) What fraction of the above shape is shaded?

i P N N ! ot "
Lin MO SRR SYVALEUL
FOLY W Nl sl asion T P
meme T L/ o e P 7y fl' ! .‘\

I = Y
- tandg)
How MOy HERGS

i

)

b

I_JaamaN
blank

16




"This shape is made out of wire,

Diagram NOT
a7 - ; accurately drawn
D Q Y

5!
The triangles are all equilateral triangles.
The perimeter of the outside of the shape is 24 cm.

(d) Work out the total length of wire needed to make this shape.
> ? Ll, " 3 g
. Smoud b z'&zfl\CJ 0§ = | Side ¢f bfjj

| (o gle.
g L, Z,[:__.y -~ 7.

o Cadn Small Sele = 7

)11 05x2\ — 2440= ¢

-----------
T

Leavej‘
biank

=107,
{995 fo6u-123 o

(Total 4 marks)

1 ™ lonc AN ' 3 (20
. WCihe ware leagth ol
OulSide, gs'n ot enln e et | |
21. Mel buys 3 kg of carrots and 200 g of mushrooms.
The total cost is £2.95
1 kg of mushrooms costs £3.20 < ){\Q
O
Work out the cost of 1 kg of carrots. ﬂ
e B
“:S/ (O(J(3§B /\ ) QO ) & gk/a Cf)flﬂ{s o { 2, 6\
T 000 =L 064 K conts £ 2:3) 43
N ~

Q21

.................................. ]
A
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22, Each student at a college studies one of four Ianguages..

The table shows the probability a student chosen at random studies German or Russian

or French.
Language German Spanish Russian French
Probability 0.2 0.1 0.5

A student is chosen at random.

(a) Work out the probability that the student studies Spanish.

There are 800 students at the college.

(b) Work out the mumber of students who study German.

0.9 = QO%'
00 100 =€

\o/o =€
9vf, = 6%20 = 160

............................

........... 0.

(Total 4 marks)

Lea',vew
blank

Q22

|
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23.

v

Rotate the shape 90° clockwise, centre .

(Total 2 marks)

Lf:::wcW
blank

Q23

§
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24,

Work out the total surface area of the friangular prism.

8 | w170 -0

.‘Fﬁ A o v 3

, Qe - 18 x 10 -

150

= Y0

} D200 2 u Y0

Diagram NOT
accurately drawn

OxX? = {{ZOC.M-Q

)

1204 V7041504 €6 = SIOGt

lnanotef A - 1200

N

----------------------------

(Total 3 marks)

Lca;\
blank

Q24

i
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Leave—‘
blank
25. Here are the ages, in years, of 16 people.
367 48 18 257 36~ 28 45 30"
38 27 417 16 36 48 28 21
Draw an ordered stem and leaf diagram to show this information.
You must include a key.
1%
. ,&) _ é’)_ {)() Y) o
I
b o
2105 1 8 &
N j 8
510 @) é) b o
i Vs s >
G411 8 ¢ € IFE - 8 Q25

{Total 3 marks)

_] _

iy

RN OO A RN N
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26. Bob has 120 beads.

The beads are cither red or green.

Bob gives % of the beads to his fitend.

% of the beads Bob now has are red.

Work out how many green beads Bob now has,
% . O

I !
¥ }:“- f 7 i _.‘f-%'“‘
\)} ) %i' b %ﬂ {}x( od S
L

% of 30 = 10

30 -0 =10

10 head S
Gl a UL

................

(Total 3 marks)

Leave
blank

Q26
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27. The diagram shows a circular pond with a path around it.

Diagram NOT
accurately drawn

The pond has a radius of 5m.
The path has a width of 1 m.

Work out the area of the path,
Give your answer correct to 3 significant figures.

Areo of a crcke - JUc

7

¢ ], go. - DORAAL 1) aitia O 5’( 17 (N
i B v\ ‘

Neva © ( - pond
v

N
Yy 0y W
! ) VLA 0 ,=' I)({/(r \
B T I B (B S L "
V3. O 13500 T o e T R T 24
- 3% ' 5 SUSIE ! (Total 3 marks) 7

Leavew
biank
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28. The equation
x4 5% = 67

has a solution between 3 and 4

Use a trial and improvement method to find this solution.

Give your answer correct to one decimal place.
You must show ALL your working.

\/(,L,?w { ()5[ ] JS 4§

S \ e
: ‘\ 6. b5l

& s & B o 3/

RIYE M,'«. (:,\3 \q
07
Teo pw

Too [ ou

V/G &) V L—{C;ﬁfi‘\
LS

Toa {ow

TO0

,‘,,.x.." . ) ‘; _51
}l ltogpes |

4
by

{ O

Too Higp )
\

Too  Low

s e S B A —

(Total 4 marks)

%
Leave
blank

Q28

END

TOTAL FOR PAPER: 100 MARKS
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